240Algebral-141027 Hour 21: linear transformations

October-21-14 1:36 PM
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Two players alternate drawing cards from the above deck. The first player to have 3

cards that add up to 15, wins. Would you like to be the first to move or the second?
(More on today's web, including a video link).

https://media.library.utoronto.ca/play.php?DJ6CPFxByy2)&id=8503&access=public
https://cmc.math.ca/home/videos/game-of-15-and-isomorphisms/
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https://media.library.utoronto.ca/play.php?DJ6CPFxByy2J&id=8503&access=public
https://cmc.math.ca/home/videos/game-of-15-and-isomorphisms/
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